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4 I
Find the domain and range for given set of ordered pairs.
1) {(21 _3)1 (1 7 O)I (_51 _3)1 (_71 4)} 2) {(_1 ] _1 )I (31 _4)1 (51 7)! (OI _6)1 (1 7 _8)}
Domain = Domain =
Range = Range =
3) {(Ol _2)1 (31 3)1 (_1 ] 8)1 (91 4)1 (_61 -6)1 (41 5)} 4) {(71 O)I (_61 _4)1 (-21 o)l (51 _1 )l (-41 3)1 (-51 O)l (31 8)}
Domain = Domain =
Range = Range =
5) {(_1 ’ -1 0)1 (31 -1 )I (Ol 0)/ (-51 2)/ (1 7 2)} 6) {(71 9)/ (-31 1)/ (61 -5)1 (-61 -1 )}
Domain = Domain =
Range = Range =
7) {(1 ] _4)1 (OI _8)1 (31 5)1 (_71 2)1 (41 _6)1 (5, 1), (1 1, 3)} 8) {(31 _6)1 (01 _7)1 (_‘I _5)1 (_21 _6)1 (51 _1 )l (2I 8)}
Domain = Domain =
Range = Range =
- J
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Find the domain and range for given set of ordered pairs.
1) {(21 _3)1 (‘I 7 O)I (_51 _3)1 (_71 4)} 2) {(_1 ] _1 )I (31 _4)1 (51 7)! (OI _6)1 (1 7 _8)}
Domain = {-7,-3,1, 2} Domain = {-1,0,1, 3,5}
Range = {-3,0, 4} Range = {-8,-6,-4,-1,7}
3) {(Ol _2)1 (31 3)1 (_1 ] 8)1 (91 4)1 (_61 -6)1 (41 5)} 4) {(71 O)I (_61 _4)1 (-21 o)l (51 _1 )l (-41 3)1 (-51 O)l (31 8)}
Domain = {-6,-1,0, 3,4, 9} Domain = {-6,-5,-4,-2,3,5,7}
Range = {-6,-2,3,4,5, 8} Range = {-4,-1,0,3, 8}
5) {(-1 ’ -1 0)1 (31 -1 )I (Ol O)l (-51 2)/ (1 7 2)} 6) {(71 9)/ (-31 1)/ (61 -5)1 (-61 -1 )}
Domain = {-5,-1,0,1, 3} Domain = {-6,-3,6,7}
Range = {-10,-1,0, 2} Range = {-5,-1,1,9}
7) {(1 ] _4)1 (OI _8)1 (31 S)I (_71 2)1 (41 _6)1 (5, 1), (1 1, 3)} 8) {(31 _6)1 (01 _7)1 (_1 _5)1 (_21 _6)1 (51 _1 )l (2I 8)}

Domain {-7,0,1,3,4,5,11}

{'81 '61 '41 11 21 31 5}

Range

Domain

{'21 '11 ol 2! 31 5}

{'71 '61 '51 '11 8}

Range

J
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